
52

Speed Grip Cage Nuts **Refreshed Line**

ASSEMBLING�
Nuts, Bolts & Shaft Retainers

Se
lf-Re

ta
ining

 Thre
a

d
e

d
 N

uts

APPLICATION INFORMATION

VIDEO ON CAGE NUTS

• Used to attach components to panels with square holes
• Snap readily into bolt receiving position at center panel 

locations and retain themselves in place
• Can be applied at any convenient spot along the assembly line
• Installation does not require any special tools or skills, 

eliminating the need for special operations
• The nut floats within the cage to account for normal build 

variation
• Ideal for blind location assembly
• Serviceable - parts disassemble easily and reliably
• Commonly used on serviceable access panels and cabinet 

construction for various industries



Speed Grip Cage Nuts **Refreshed Line**

Se
lf-

Re
ta

in
in

g
 T

hr
e

a
d

e
d

 N
ut

s

Part 
Number

Replaces Part 
Number

Thread 
Specification

Panel Thickness 
(F)

Hole Width 
(B)

Nominal Hole 
Length (L)

Width
(b)

Length 
(l)

Material Thickness 
(s)

242664 D07931-832 8-32 0.020 - 0.063 0.343 - 0.380 0.377 0.490 0.520 0.020

242665 D07941-832 8-32 0.063 - 0.105 0.343 - 0.380 0.377 0.490 0.520 0.020

242666 D07951-832 8-32 0.093 - 0.126 0.343 - 0.380 0.377 0.490 0.520 0.020

242667 D31365-832 8-32 0.125 - 0.156 0.343 - 0.380 0.377 0.490 0.520 0.020

242669 D07931-1024 10-24 0.020 - 0.063 0.343 - 0.380 0.377 0.490 0.520 0.020

242670 D07941-1024 10-24 0.063 - 0.105 0.343 - 0.380 0.377 0.490 0.520 0.020

242671 D07951-1024 10-24 0.093 - 0.126 0.343 - 0.380 0.377 0.490 0.520 0.020

242672 D31365-1024 10-24 0.125 - 0.156 0.343 - 0.380 0.377 0.490 0.520 0.020

242674 D07931-1032 10-32 0.020 - 0.063 0.343 - 0.380 0.377 0.490 0.520 0.020

242675 D07941-1032 10-32 0.063 - 0.105 0.343 - 0.380 0.377 0.490 0.520 0.020

242676 D07951-1032 10-32 0.093 - 0.126 0.343 - 0.380 0.377 0.490 0.520 0.020

242677 D31365-1032 10-32 0.125 - 0.156 0.343 - 0.380 0.377 0.490 0.520 0.020

242679 D07931-1224 12-24 0.020 - 0.063 0.343 - 0.380 0.377 0.490 0.520 0.020

242680 D07941-1224 12-24 0.063 - 0.105 0.343 - 0.380 0.377 0.490 0.520 0.020

242681 D07951-1224 12-24 0.093 - 0.126 0.343 - 0.380 0.377 0.490 0.520 0.020

242682 D31365-1224 12-24 0.125 - 0.156 0.343 - 0.380 0.377 0.490 0.520 0.020

242684 D07988-1420 1/4-20 0.020 - 0.063 0.343 - 0.380 0.377 0.490 0.520 0.020

240846 D07998-1420 1/4-20 0.063 - 0.105 0.343 - 0.380 0.377 0.490 0.520 0.020

242685 D07956-1420 1/4-20 0.093 - 0.126 0.343 - 0.380 0.377 0.490 0.520 0.020

242686 D31365-1420 1/4-20 0.125 - 0.156 0.343 - 0.380 0.377 0.490 0.520 0.020

242922 D07937-5618 5/16-18 0.020 - 0.056 0.460 - 0.508 0.505 0.640 0.660 0.025

242923 D07953-5618 5/16-18 0.057 - 0.092 0.460 - 0.508 0.505 0.640 0.660 0.025

242924 D07957-5618 5/16-18 0.093 - 0.126 0.460 - 0.508 0.505 0.640 0.660 0.025

242925 D07935-5618 5/16-18 0.127 - 0.162 0.460 - 0.508 0.505 0.640 0.660 0.025

242926 D31910-5618 5/16-18 0.177 - 0.197 0.460 - 0.508 0.505 0.640 0.660 0.025

242927 D07937-3816 3/8-16 0.020 - 0.056 0.460 - 0.508 0.505 0.640 0.660 0.025

242928 D07953-3816 3/8-16 0.057 - 0.092 0.460 - 0.508 0.505 0.640 0.660 0.025

242929 D07957-3816 3/8-16 0.093 - 0.126 0.460 - 0.508 0.505 0.640 0.660 0.025

242930 D07935-3816 3/8-16 0.127 - 0.162 0.460 - 0.508 0.505 0.640 0.660 0.025

242931 D31910-3816 3/8-16 0.177 - 0.197 0.460 - 0.508 0.505 0.640 0.660 0.025

242947 D07968-3816 3/8-16 0.020 - 0.092 0.558 - 0.593 0.590 0.835 0.865 0.025

242948 D07969-3816 3/8-16 0.092 - 0.126 0.558 - 0.593 0.590 0.835 0.865 0.025

242949 D30683-3816 3/8-16 0.126 - 0.210 0.558 - 0.593 0.590 0.835 0.865 0.025

242950 D30096-3816 3/8-16 0.210 - 0.260 0.558 - 0.593 0.590 0.835 0.865 0.025

Imperial

In Panel 
Holes

Most parts manufactured in spring steel
Note: Parts noted in red have been designed but not released at the time of 

catalog publication.  Parts may still be purchased under the old legacy number.



54

Speed Grip Cage Nuts **Refreshed Line**

ASSEMBLING�
Nuts, Bolts & Shaft Retainers

Se
lf-Re

ta
ining

 Thre
a

d
e

d
 N

uts

Imperial Continued

Part 
Number

Replaces Part 
Number

Thread 
Specification

Panel Thickness 
(F)

Hole Width 
(B)

Nominal Hole 
Length (L)

Width 
(b)

Length 
(l)

Material Thickness 
(s)

242951 D07968-7614 7/16-14 0.020 - 0.092 0.558 - 0.593 0.590 0.835 0.865 0.025

242952 D07969-7614 7/16-14 0.092 - 0.126 0.558 - 0.593 0.590 0.835 0.865 0.025

242953 D30683-7614 7/16-14 0.126 - 0.210 0.558 - 0.593 0.590 0.835 0.865 0.025

242954 D30096-7614 7/16-14 0.210 - 0.260 0.558 - 0.593 0.590 0.835 0.865 0.025

242955 D07968-1213 1/2-13 0.020 - 0.092 0.558 - 0.593 0.590 0.835 0.865 0.025

242956 D07969-1213 1/2-13 0.092 - 0.126 0.558 - 0.593 0.590 0.835 0.865 0.025

242957 D30683-1213 1/2-13 0.126 - 0.210 0.558 - 0.593 0.590 0.835 0.865 0.025

242958 D30096-1213 1/2-13 0.210 - 0.260 0.558 - 0.593 0.590 0.835 0.865 0.025

Part 
Number

Replaces Part 
Number

Thread 
Specification

Panel Thickness 
(F)

Hole Width
 (B)

Nominal Hole 
Length (L)

Width 
(b)

Length 
(l)

Material Thickness 
(s)

242693 D07931-M508 M5x0.8 0.50 - 1.60 8.71 - 9.65 9.58 12.45 13.21 0.51

242694 D07941-M508 M5x0.8 1.60 - 2.70 8.71 - 9.65 9.58 12.45 13.21 0.51

242695 D07951-M508 M5x0.8 2.40 - 3.20 8.71 - 9.65 9.58 12.45 13.21 0.51

242696 D31365-M508 M5x0.8 3.20 - 4.00 8.71 - 9.65 9.58 12.45 13.21 0.51

242698 D07988-M61 M6x1.0 0.50 - 1.60 8.71 - 9.65 9.58 12.45 13.21 0.51

242699 D07998-M61 M6x1.0 1.60 - 2.70 8.71 - 9.65 9.58 12.45 13.21 0.51

242700 D07956-M61 M6x1.0 2.40 - 3.20 8.71 - 9.65 9.58 12.45 13.21 0.51

242701 D31365-M61 M6x1.0 3.20 - 4.00 8.71 - 9.65 9.58 12.45 13.21 0.51

242937 D07937-M8125 M8x1.25 0.70 - 1.40 11.68 - 12.90 12.83 16.26 16.76 0.64

242938 D07953-M8125 M8x1.25 1.40 - 2.30 11.68 - 12.90 12.83 16.26 16.76 0.64

242939 D07957-M8125 M8x1.25 2.30 - 3.20 11.68 - 12.90 12.83 16.26 16.76 0.64

242940 D07935-M8125 M8x1.25 3.20 - 4.10 11.68 - 12.90 12.83 16.26 16.76 0.64

242941 D31910-M8125 M8x1.25 4.10 - 5.00 11.68 - 12.90 12.83 16.26 16.76 0.64

242942 D07937-M1015 M10x1.5 0.70 - 1.40 11.68 - 12.90 12.83 16.26 16.76 0.64

242943 D07953-M1015 M10x1.5 1.40 - 2.30 11.68 - 12.90 12.83 16.26 16.76 0.64

242944 D07957-M1015 M10x1.5 2.30 - 3.20 11.68 - 12.90 12.83 16.26 16.76 0.64

242945 D07935-M1015 M10x1.5 3.20 - 4.10 11.68 - 12.90 12.83 16.26 16.76 0.64

242946 D31910-M1015 M10x1.5 4.10 - 5.00 11.68 - 12.90 12.83 16.26 16.76 0.64

242963 D07968-12175 M12x1.75 0.50 - 2.30 14.20 - 15.10 15.00 21.21 22.00 0.64

242964 D07969-12175 M12x1.75 2.30 - 3.20 14.20 - 15.10 15.00 21.21 22.00 0.64

242965 D30683-12175 M12x1.75 3.20 - 5.30 14.20 - 15.10 15.00 21.21 22.00 0.64

242966 D30096-12175 M12x1.75 5.30 - 6.60 14.20 - 15.10 15.00 21.21 22.00 0.64

Metric

Most parts manufactured in spring steel
Note: Parts noted in red have been designed but not released at the time of 

catalog publication.  Parts may still be purchased under the old legacy number.

ASSEMBLING�
Nuts, Bolts & Shaft Retainers

In Panel 
Holes




